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how to choose n so that 2" > cn

a couple of hints...
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big-Theta means...

g €O(f):3ci,co,mp ERT, VR EN,n > ny
= g(n) < aif(n) A g(n) > cof (n)
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products and sums — redux

> f+g

> f-g
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back to code...

“steps” and input “size”
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counting loops...

def f0(n):
X =n
print(x * 2)
return x + 3

def f1(n):

for i in range(10):
print(n)
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def f2(n):
for i in range(n):
print(n)

def £3(n):
i=0
while i*i < n:
print (i)
i=1i+1

def f4(n):
i=0
while i**(1/2) < n:
print (2*i)
i=1i+1 & )
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nested loops

def £5(n):
for i in range(0, n, 2):
for j in range(n):
print(i - j)

def f6(n):
for i in range(n):
for j in range(i):
print(i - j)
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composition, combination

def £7(n):
for k in range(n):
f6(n)
£2(n)
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def twisty3(n):

steps = 0
while n > O:
if n % 3 == 0:
n=n//3
elif n % 3 ==
n=23n - 3
else:
n=23n - 6

steps = steps + 1

print(n, steps)
return steps
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clumsy is_prime

def is_prime(n):
if n < 2:
return False
else:

for d in range(2,n):

if n % d == 0:
return False
return True
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